. langana’s Artificial Inte]j;
Match the following areas with their respective key pillar numbers of the Telang lligen,

Framework, 2020 :

Focus Areas ey datar
A.  Skilling and education i =
B.  Governance, ethics and privacy IL o
C. Research and innovation ) m 05
D.  Enabling adoption and community collaboration” Ry Ivoo02
V. 04
Choose the correct answer :
(1)  AJLBLCIV, DI » @  A-IV;BICV,D-II
®)  ALBI,CV,DIV 4 A-IV,B-V,CII,D-I

8oorre 8% ey (2062020 &° ) 0ol 808 worreh B8 $owogodS Sre Fogre Soggd'
B3EDBHRW

)Y FOoDS wozren &ore §°¢°°°

A Ddegs SHBak D L 03

B o3, B85S Soam Mg L 01

C 508 200a ediHn o 05

D 588% 00008 5000 S8 $esso V. 02
V04

VB8 23TPe0 oHE Kk :

(1) A-LBILCIV,DII (2  AJIV,BICV,DaI

@ ALBILCV,DIV @  AIV;BV,CI, DI

As per the Telangana Socio-Economic Outlook-2023 of the Government of Telangana, which of the following
statements related to Aarogyasri Scheme in Telangana is/are true ?

A.  The goal of this scheme is to assist the below poverty line (BPL) households in the state.
B. This scheme offers financial assistance upto Rs. 8 lakh per household per year.

Choose the correct answer :
(1) Bonly (2 Aonly
(3  Neither A nor B (4)  BothAandB s

Boorre (H5h8Y Boorre PSTEs 6Q8 SwpdFo 2023 ($5780 Berorrendty o6 Ssse08 Somofod
808 amgased® D8 /09 ey ?

A oogost TeB|ts Bt 810D (BPL) DY) HeowreoH ¥Bcho Sahro K S0 T ogso.
B. & $¢80 &85 Henoerd8 $o5Eo08 . 8 0fo S8 68y Sistabo ©08%08.

BB JSErEraeR) DoHE R | N\

(1)  BwEH @  ASED

(3)  A%Bas» BBk sv ) Add» Botie

X




96.

ET

‘Mahalakshmi’ scheme of Telangana government is a women empowerment scheme. The eligible women are
provided :

A.  Financial assistance of ¥ 2,500 per month. « _ .

B. Frze education to girl students securing admissxons in higher professional educational institutions of
India. "

C.  Gascylinders atI 500 .-

D.  Free Telangana Road Transport Corporation (T GRTC) bus travel across the state in express and palle
velugu buses. »

Choose the correct answer :

(1) B,CandD only ) A, B_,7C and D

(3 AandBonly (4) A,CandDonly*

Boorrn (50&KD ‘SFedy HEko R0 HrEe PHSTE B0, WP HirFod £ oree D HErdEean ?
A I &r. 2,500/- egé JBado.

B. 88 68 $)8 Do a’)ozge)ée ($3Fo Srobd ?g_éoé) D8 Doy FBLs0.

C & 500/- o8 S 290K ok,

D Boorre 6% e $08 (TGRTC) $H&d) MBS, 57 Jeurd exges’ oo Hoser 408 Batre
3‘5630 (rJ

$8% HErerso doHsod :
(1) B,CB05 D Sm(EsD (2 ABCH0x»D
B) ASoBas» BSrSD @) A, C&Bdsw DIeED

Under which of the following Article/s of the Constitution of India the government is empowered to make special

provision for women and children ?

A Article15 B.  Article65_

Choose the correct answer :

Bouly (3)-* Y BothAandB  (4)  Neither A norB

(1) Aonly~ 2

el anoéoxoéex) Bod @ ©6E6e0 [ ©HEBETO éocs @gﬁ;éso Sogrten SO dye %0 @355 QuoPded

ErRroBoSEed8 ebhseso E0A Hob ?

A ©f86wo 15 B. @@édeac;gs

VB8 esrenil) OHE KIS :

(1) A @ BEESD () A®BawBTor (4) ADOA BBoLr 2

X 27« et

e

| o' |
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s in Telangana:
Match the following schemes with aims/ objectives of these scheme
Aim/objective

Financial assistan

Name of scheme
ce Rs. 2500 for women

A.  Haritha Haram L n, and chj
B.  Kalyana Lakshmi IL fﬁ"ﬁtritious meal for lactating and pregnantwomen, and childrens beloy
- bzyears )
C  ArogyaLakshmi IIL i}—;}lancial Assistance for bride’s marriage .
D.  Mahalakshmi Iv. C ir%rease Tree Cover to 33% of total Geogr aphical area of the state
;]

Choose the correct answer : -
(1)  A-ILB-II,CIV,D-I @  A-V,BI,CID-I
(3)  A-IV,B-ILCI, D » s ) @ AIBICIV,DI
Boorrerd® (808 Sysom © Hiisw ofo/adH08° aESESHED :
380 D ofso/ag¥o
A 588 S88o L SoSrFeH &r. 2500 egé J58abho
B. S o8, 1L a»o::g) Seen 58D Kaa)sﬁ @w HBaiw 6 SodHoreotod LEON ;5@;{
—6%) dodH PFiseHFo) wodosio
C et o8, T 0% S0 ©oBoSL0
D. SFefy

@  A-V,BI,CIL DI

(1)  A-ILB-II,CIV,D-
4  A-ILBILCIV,DI 1c

(3)  A-IV,BII,CI,DI

2019) conducted by the Ministry of Statistics and Programm

As per time use survey (January - December,
ed (in both rural and urban India) in unpaid domestic servics

Implementation, the percentage of females involy
by devoting about 5 hours per day was :

(1) 70% * 2 80% @) 60% @ 75%

flemof O S eiben HolPsen ARODS B0 as@rns N3 (550 - ARowb 2019) F50
BT 1) Db 6% B 5 Mot S5 d%oaho Seropod D&EO TS0 (eSS o5t (r&es 00

e (Frosred’) Jod dob ?

103

1 70% &) @)  60% @ 75%

In June 2024 which installment undef PM-Kisan Samman Nidhj was released ?

e

(1) 14" installment » 2 15t ke .
: ) NG @  17% installment
« ) .
@73 2024 &° PM-8S 5578 26 8oty a§s§ 2058 D50 Samaon o ins

| -

1) 145 25 @ 155 58 @
65 D58 @
175 968

@ @ ET




101. Which of the following statements related to MGNREGA are true ?

A Itaims to enhance livelihood security in rural areas by providing at Jeast 100 days of guaranteed wage

employment in a financial year.
B. ittrauns to create personal, durable assets such as pucca ho %for individual beneficiaries, roads, canals .

C.  Under this scheme labour intensive works are preferred. >
Choose the correct answer :

(1) AandBonly * (2) BandConly

3 AandConly @ ABandC |

=

MGNREGA 8 So@0809 B0b amgases® 9 ady ?
A o8 oBY SodEsos® 8d%0 100 Sere a6 580 FsrQ) woboso TFo° (i (Promres® £330

g8 Dodrodosto B eFso.
B. 818 oforde &8%60 S5 K)o, B, scenden BEsBdenHoB HBKE, HYPSS e FHRosEo a9 i
oFso.
C & 5550 Bod (35 Jolss B0 [APGrs aew. ) ‘
$B eTrand DOHE K : a;; i
(1) ABBd5BSHED 2) BB C @gdﬁ:
(3) ABoBdD CEPSD @4 AB &acﬁ»éﬁ
i '1
102. As per 2011 census, the percentage of Scheduled Tribes in India is...... .
(1) below5 (2) between8to 9
(3) between10to1l (4) between12to13 »
2011 esrgr B (B5°60 658808 S Bifo T80 dod ? )
0 56% @) 808 950 !
| @) 10508 11 &4 @) 12%08613 «”:#6;5,"
103. Find the missing number in the following series : Q0
3,14,39, 84,155, 2,399 2
1) 256 2 257 @ 258 ) @ 259
Bob FBE S0 vomg BEYOB. |
3,14,39, 84,155, _2_, 399 : |
1) 256 @ 257 3) 258 @) 259 !




104.  If Ayushi says, “Payal’s father Raghav is the only son of my father-in-

105.

106.

ET

law Manohar, thenhow is Brtyy, 4

the sister of Payal, related to Manohar’s wife Rani ?

0", e ()  Daughter

(3)  Daughter-in-law ()  Grand-daughter «
-5,

oty oS, DS Gy S0l ©D wcivh T, S B eany B,

T SrHrr3S HFHE HaK SRV

-

D gy B8 DD wHd0s ?

(1) RFSHD/FE56 Emitorsy @) st

@ st @) s

A statement followed by two assumptions are given below. Decide which assumptions follow from the statemeny
To make a trip to Ooty on9th May,john decides to book railway tickets well in advance ip the

month of March itself.
Railway reservations can be made two months in advance to avoid last minute rygj,

Statement :

Assumptions: L

IL " John can book a ticket of any desired class, as there will be more vacancies.

(1) BothIand Il are implicit () Noneofland Il implicit

(3)  Onlylis implicit » (4)  Only Ilis implicit
(808 2.8 ($S53350 P Bo &ten agOERoD. FBEEDD (H5350 Mol 0P gowoTd.

B5S80: &8 oF 58 D J0 95 39*3026:&0@;65}16 BS% orer EwotHed £78) F06%S 38 838 of

BE'T0D DawoHHTG:. s
L 950 d%o 550 SoS*Sas Botd Foo Swotored Beo 884y w8 Srsisy

@338en
L e gbesotio Sroom e 85 SXoD%) S% Son080Ds B35 w8 Jes'ss

(1) ISBc»Ilen Botr add axqow () ;é)bcﬁwﬂoés D8 3 BH
B) I39ED 328 @od @ TISD 28 d0d

Six persons U, V, W, X, Y and Z are sitting around a circular table facing the centre. U is facing V. Vis to the
immediate right of Y and to the immediate left of W. W is to the immediate left of X. Z is to the immediate rightof
U. If Y exchanges his seat with V; X and Z after interchanging their seats turned 180° and sat by facing their backs
to the centre of the table, then who is sitting to the immediate left of X ?

2V @ X w3y Y @ U,

28 HEseos) oy WHiy SoErdEvpor st SGen U, V, W, X, Y 58 Z e EP5pTn. VE edivyorl
ST, Y& HEFHS JHBLT Bocky W 2SS 353063 V amms, X AEKPHS 3BoLIW
6T, UH HAIHS 303003 Z avnd. s:8ptd ¥ 50050 Vew J8HBo a8 FTOD SPENHI, X Hodl
o 0 Frol SEHBo ErtnHI) Sod 180°86A-T6 5 erro Solgsupore aodsepm reyipend

SJPEH X & EHJHF I20J06T A5 e ?
@ Y @ U

x 30

¢3 i / 2 X
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110.
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is daughter of C. Disfa
A,B,C,D,E,F,Gand H are the members of a family. A is the brother of Band Bis daugh themf‘:

. -in-law of C andGisunmamel.
1+ has three grandchildren and B is the only grand-daughter of E. Fis (-ia:;ﬁ:::sltr;\e number of females, ther hoy,
the family. H is son-in-law of D. In the family, if the number of males is
isErelated to G ? =

Mother-in-law

(1) Father-in-law (2)  Grandmother @

A8, C,D,E,F, G 56005 Hew 0.6 bt0m seiges. B PR RAGIETA ROCD C aﬁf’ :me; ?:ééq& :
ES o 5t sosen/ sosisoomogsos® B LS Soogaceen, C Gt §%eo F 50 e

SB0. D @) oexo H. o ©inopodt Sorfad Sogy, Lad Sogg $ErS0 ©ow8, GH EID e, 7

M) S @ esysy/massy @O o8 4 ogrs

A statement followed by two courses of action are given below. Identify which of the courses of action to followf,
address the problem in the statement.

Statement : Recent reports show that eating hot food in plastic plates is causing stomach related diseases

and leading to cancer in many cases.

Course of action: 1. The Government should ban.the industries manufacturing these kind of plates

immediately. =

I.  Wehaveto bring awarenessamong the people about the consequences of the irrationa]

usage of plastic in the daily fife,

"

H 5
= of

Which course of action follow for the problem stated above ?

U

(1)  OnlyIfollows (2 Or;fﬂ follows

(3)  BothIandIIfollows e 4) Mg:eofI,IIfol]ow

Bots a8 @550 IFowd ot &8t ey B8 aterran.  (HS5585065 DRy SOARAZ B Sty
©5500mrE* 80D,

B5So: g i 59y 2565 Y5 5B I8 60 8560 DY 58 Sowohs T se8eaBrdHond),
e 6060‘9066 5°)6% @6&9&&?6553‘&5)&!&053&) Bmé)@ggn.

Sgeo: L & S5O SHhod ot 35 SOFSe

(1) 15PEH eiomd ?)  ILEHSS os00m0

(3) 1560 Ilen BoBd eikisbomrd @)  TS50a et 38 OBB05)

ET
X [32]




111. Whatis the order of the following five words as per dictionary order ?

112.

ET

A.  IDENTIFY B.  IDENTICAL =
D. IDENTITY E. IDENTIFI CATION

Choose the correct answer : 7

(1 GCB,AD,E Q) CBE A, D G) CEBAD
Bod 0 Jrre @) Jxokn (EHDHe -, jr

A IDENTIFY B.  IDENTICAL c
o L E.  IDENTIFICATION

Bod TES® Bowans AV Ays®od.

():::.C,B,A,D,E @i .C,B,E.AD (@) GCEB,AD

The six faces of a cube are labelled with numbers 1, 2,3, 4,5 and 6.

The cube is opened in two different ways and the twc positions look like :

i~
i

i
| I
"

'

L=
LI

I‘|: ll My

ou, gl
1 e
AR

| | e

4 3

ik

Then the numbers on the faces adjacent to the face numbered 2 are :

M) 1,435 @ 1,356 @)1, 45,6
2.8 $o50 BE) et Swgro P Jopgw 1,2, 3,4, 55005 6 ©% So@oTed.

& Ford) Botd e B85 © Bokr &8 Eorre EADRTHOD.

3 2
1.6 6 5
4 3

Ot 28 Srsnlhs Sopo ENE) G TP Ko Soggen :

(1 1,435 @ 13,56 G) 1,456

X

IDEA

4 CEA,BD

4 CEA,BD

4 1,256

@ 1,256

[33]
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113. A statement followed by three conclusions are given bel

ET

P lusion(s) follow fr
: hich of the conc om
ow. Decide W

statement. ‘
three candidates A, Band ¢
ving 40,000 memb.ers, 1 ke -
Statement : For tl"ae postof presidgnt, (;fn a 511::;};;‘3:;%5 S patt w(;% nz tlsn;g]ag 1‘:35 ; votesg&':;’ﬁo(] b
z?hmlglg:i?lgcg:;ts 1,000 votes less than CandC§g
re ’ ’ A - &
Conclusions: L A won the election.
5<th' 2 tes
I.  Band C together could get —g of total votes.
IL 15,000 votes went in favour of A.
Which of the following is true ?
(I)  OnlyIandIare true

@
®)
@

All the three I, Tand I1I are true  ©
None of I, Il and III is true CC

Only Il is true

Bo5 o8 BS55%0 FH Towl Hwd SwhoHen sNPETon. BYS BIIFo Hod O IwhoHw vhrdm
QPawoed. £y

(PSB850 : 40,000 35008 $gHgenss a8 K @éeii SED8 astorp) dPSE® SoorfHth egfstien A, Bddy

Con DS BOHTHD. S IYSE® JgFe0LEr FPETHEDSE D Lt P 8. a0kd
A% BES) 3,000 8.6 AES oore, CES) B 1,000 &3 S5 Somow. A 59 CH 2,004
B Seyzyom.

SofoPen: I AYBS® AROT.

5
I Bi0dn Cogor 508 Ando &46° = S Sok ey FGoms.

IOL 15,000 &én A & eddroorr BQ‘DQD

8o >BS° HB Qeo ?

)
2
3)
)

1 508050 1T Soo( 3D Dazo
I, I 5805w I e Somedse Deso
I, 11 508050 I o6 H& Jezo so)

11 S7(83 Deso

34




o statements are given belo i
114 Tw 8l w. With reference to cause and effect relationship how these two statements are

115.

ET

related ?
tement I: Last
g admiﬁ:f;’n‘.“‘fe than twelve lakh students applied for JEE Mains who aspire for getting
" e nto IITs for a total of 17,000 seats available.
Statement I1: ere is a great dem A 2 1 ;
education to the stq ::;Si. for the coursgs m IITs which impart very high quality technical

which of the following is correct ?

(1)  Ilis the cause and I is its effect

(2) listhecauseand Ilisits effect ¢

(3) IandIIare effects of two independent causes ;

(4) IandIIare effects of same cause y

(8ot Botd (BHSTren adwwran. S8wo, [Herdon &S & Both D DS JowogrR) EOA dTzow ?

B&SSeI: NTd® Ko 17,000 b e @3do oBmedB K8 Soss)bo JEE BanSyH ot ofed pre
Dergten LBy Bsotommb.

BHSSeII: Dogheh o808 g FoBBY i SoBostos® MTed®d Eius me 85708 ¢ob.

Bod =BE* DB ¥ ?

() Iseeo sore oo (Herded I

(2) Is*Beo sere oed (Herdad I
(3) Bo P seBee DY) (Herard 150805 1T
@) 28 s8ee8 Som0ofoDS (Herard IHoodsn IT

The organizer H of a gathering invited five guests P, Q, R, Sand T. T is the Chief guest of the meeting. All these
5 guests sat on the chairs which are on the left side of H. Black;Blue, Green, Red and White are the colors of the
chairs. The Chief guest T sat in the middle of five guest chairsand it is of White color. The guests P and Q did not
sit in Black chair. Q satin the middle chair of the farthest thre€ghairs to H and the middle chair of the nearest three

chairs is of Blue color. o
If the nearest chair to H is of red color and S sat in it, then the (guest, chair) combinations are :

(1)  (P,Blue), (Q Green), (R, Black), (S, Red), (T, White)

(2 (P, Black), (Q Red), (R, Green), (S, Blue), (T, White)

(3) (P, White), (Q Black), (R, Red), (S, Green), (T, Blue)

@)  (P,Blue), (Q White), (S, Red), (R, Green), (T, Black)

¢ Qo H, odorhtd @& P, Q, R, S H00din T ol BOEDE 008 w0, HS JEHJHS éx) 5
©8est GHipTd. © $ErHeds Ty o8 Hen $008;:De00, BB, oY HOAD BeoH Bordd. Sorg

085 T 085 H8s® Hise’ af) Bosd Bord HHE® SrBHIN. e P HOA Q e ¥y Bord Byt
ErtysBtSs. HE tmtor i) St ©iyod® Sotfs 6" Q Spipyoyth. H St &) ont DS Sk

&8y deo Borrd.

H o881sm af) H8) 26D BorHd wan RSt S Ertyo
1) (PBoo), (Q i), (R, $e3d), (6 &), (T, 83%)
@  (P,5w), (Q d6), (R, 85, (5, 900), (T, 8ex)
B)  (P,3eri), (Q Se), (R, AED), (6, 8&BH), (T,8w0)
@  (P,50),(Q 8en), (S, D), (R, w5E)), (T, Se0d)

X [35] pro.

8;,00pt (086, H8)) © Sodrrdoen :
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Read the following charts carefully and answer the questions : (116 1:;Z_:)rs and male members in five healty, Clubgp
The following Pie charts reveals the information pertaining to to?l - :
R,Sand T in the year 2021 XJ L0£.6500 mietmbery 4 ;

" et | t of a total o TS 1s §

The distribution of total number of members in five health dpbs -mf'zozlllé(:llth clubs in 2021 out of a tota] of 3‘5&&\“
Pie chart 1, while the distribution of total number of male men,‘}{?}:s b b
members is given in Pje chart 2. A

Total 6500 Total 3400 ~~
<
Pie chart 1 Pie chart 2

116.  Ifxis the number of members of a club having minimum female members and y is the number of members of acly

having maximum numbers of males, then (y—x)is 1 J4s0
(1) 1560 (2 2030 (). 1250 (4)

117. The health clubs having more female members than niaié é\ember sare:
@ QR (2)*¥iR:s &Y Jp,T @ RT

Bod Jerersd PHEEM™ $69 BHe (116-117) 0% SLErErE DI04,

2021 S05&B0s® i) B B3 P, Q, R, S590805m T o659 FSD Sghgen B HHR Jgipe Ddored (80d (P
D(E~en DB5BIraw. i
2021 &° 3ngo R55e0 6500 ©6° wthH Iwes g

ao&®d D550 Vogge DSTredd P’ (Pie) (B0 1 3508 o 20216
SwEo HHR Bghgen 3400 68 ok Seopos®

DB 60&)56 Adoeerdd @’ (Pie) QF0 2 SrHH0d.

S0 0 6500 B350 3400
9 oo / Q34% ~ N
2 ASol P Ao 2 =

116.  irde Sogg E1gore Ko &8 Sand®d Indo %
Doy y @508, (y—x) =

1) 1560 (2) 2030 (3}""1250 @ 1430
117, 958 Sghgo808, e Sehgen s &%) S Efen ;
(D) "*QR @ RS Ol BT @4 RT

ET x

36




118. Read the following Assertion A and Reason R,

119.

120.

121,

ET

Assertion A : If x, yand p be distinct rea

' Inumbers satisfying (p — x)(p — ) > 0 then p lies in between x and

ReasonR: Product of two numbers of same sign is always positive.
Choose the correct answer :
(1) Adistrue,

(2 Adistrue,

Ris true and R is the correct explanahon of A.

Ris true and R is not the correct explanatnon of A.
(3 Adisfalse, Ris true.

(4  Both Aand R are false,
(Bod IBFo A, 52890 R 0% S5S508.

MPIKe A (P-x)(p—y)> 0o ERI6T Dejorr-x, y 56k p oo DY) TS Boggen ©and @) x HBK yeo
3055 p doe0d.

s8oR: a8 HKe Boh Sogge OO JQ/PER Ko,
VBN 23TPe0D DoHE oS

(1) ARDE50, R¥&50 HBm A & R 0BS DH5Bes ©HEH0s.

2 ARDE50, RJ50 B A % R OB DHBea 5.

(B A®dE0, RSEp0. —=

@) A6 Res Bothr eissgo. et

In a code language MODERATE is coded as ORH]XHBN In the same code language which word is coded as
BONTER ? :

(1)  DRRYKY (2) DLROKY By @) ZLJOYK @  ZRJYKK
&8 8% g76° MODERATE & ORHJXHBN v &% 388, o3 a6° 5 S50 BONTER rr SE Schntomhon ?
(1) DRRYKY ) DLROKY @) ZLJOYK @  ZRJYKK

Calender of which of the following years, exactly match with the calendar of the year 2026 ?

(1) 2039 (2 2038 @) 2037 @ 2031
8od >86° O Sos)o ENY) SToLLd KO 2026 SoSHBY SBorHS® DéeDk0s ?
1) 2039 (2 2038 . (3 2037 4 2031

What is the term that fits in the blank space in following letter series ?

PZN,KGL, GMJ, DRH, _?__

(1) BUF (2 AVG () AVF (4 BVF
od gy FB6D grd SRR $rBoB S0 I8 ?

PZN,KGL, GMJ, DRH, _? _

()  BUF (2 AVG (3) AVF 4) BVF

X PT.0.

N~ w4

e~ ——_N




122.  The 1% January of an year X of 20" century is SUNDA

123.

ET

ywe
{ and 15t Maxch of the same year is WEDNESp,

tanuary is FRIDAY.
: AY and 1% Janu
In the same century, for an year Y, the 31%* December i SATURD

If D, is the day of 315t December of year 7{ alld

D, is the day of 15t March of year Y, then%(l__?l';jDz) =

(1)  (THURSDAY, FRIDAY) —-0 (MONDAY, WEDNESDAY)

(3)  (SUNDAY,SUNDAY) S (SUNDAY, TUESDAY)

% H 5158
20 SerndtD o Koo X G a6 13 86 wdL0 ST o $0B8)ED 579) 135 B8 2o ey,

o3 e ¥ KoSEBo Y % Kowosod Eowd 31 4 86 dapbo sore, B0 13 863 B0 ®at

X $05%)506%0 &Ronth 318 $3) e Ded

Y 505&806°0 $8) 13 $3) 8% Dy ®

:;éoéaoéﬁ (D1, Dy =

(1) (Fobarbo, HETE) TR @, eTeso)
(B) (sbHarBo, sba*E0) @ (sdzrSo, HHoKE=rLo)
A solid cube of each side 8 cm is painted with red, blue and black colours such that each pair of opposite fa

have same colour. The cube is then cut into cublcal blocks of each side 2 cm. Then how many small cubesh
atleast two faces painted ? LY ]

1 16 2 56 ', @ 48 @ 32

Eon, 0.0 ghmore ffo .8 3 oS, SKsKorr e a'562, ad Sogrod a8 ot SOGLY 2,
SoBcs Sendh) Borbed® Sord I0. © EHTE © %0 220, 5, Shesore Ko iy omrenrr $860%. o
Y DY) FoTre 8RB0 Both Swgrep Sod Johnd dotnod ?

1 16 2) 56 @) 48 & g

X 51
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Read the following data carefully and answer the questions : (124 -125)

The following table shows the number of sy, q
C and D. The percentage of students selected

ents attended for campus recruitment interviews from four colleges A, B,
for the jobs from each college in the years 2021, 2022, 2023 are also given :

T‘E = B ) C D

Year S::g;:‘; % SNo. of % No. of : No. of %
Appeared | 241524 A;i:fd Selected, f;upi:; Seected f;iini Gt

2021 2000 39% 2020 35% [ " 2200 33% 2900 31%

L—ZE 1850 28% 2100 43% \.|.J 2500 42% 2700 34%

2023| 2200 33% 1900 46% 2550 30% 3000 35%

124. The ‘.:ollege and the maximum number of students selected in that year in which A witnessed maximum number
of rejections are:

1 (C1785) (2  (B,1026) @) (C765) 4 (D,1050)

125. All the colleges put together average number of students selected in the year 2022 (approximately) is :
1) 1250 @ 847 ' @B) 968 4 1050
Bos DS BERowR) ePUTET™ S6D HH (124 -125) 0% SEFEFEIE.

A, B, C 5805 D o3 Sgraroe o8 (@eoie &)cﬁréjsbv SogrEnd8 DS Doeghe Sopgko §od JGE SrHH0d.
2021, 2022, 2023 S0 e’ a&iimes ($8 Ee oS08 IYFS ITFHe TEODH LT AREHRO

A B b4 o (e D

3B &8989 g Se3BS 2 B
oS50 YBH D8 8 AN
Do Dorgthe degoe dogioe
¢ |=6 =0 0 &0 0 TS0 0 &80
Sogg dogg Qo Sogg
2021 2000 39% 2020 35% 2200 33% 2900 31%
12022 1850 28% 2100 | 43%p] 2500 | 42% 2700 34%
2023 2200 33% | 1900 | 46% [) 2550 | 30% | 3000 | 35%

14, Sevme A S 1505 SomgS® QoPEBOSBAS DIFHOR SD SR BoHEB0S® D Serared® Koy Souss® dorgien
LBt & Serare O © 103 Somg 2.7

(1) (C1785) @  (B,1026) @) (C765) @  (D,1050)
125, of) Searooi 50D 2022 S058)506" AYS Do Kopge Bk (Sepanode) :
(1) 1250 @ 847 B) 968 @ 1050

X

P.T.O.
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: 126 -127)
Stud . the questions. (
y the following graph carefully and answer the q f cars of Bra

The following bar graph gives the data of the number of users © kot
fseoob.
& (808 EeQ) evifgre $5884009 ©Heo (126-127) o a;;o;mw} &
03
P, Q R, S558a50 T $ifored® A $o00dkn B o sve 508 FEE0 m'giégl‘o -

Brand/(ero& A D Brand/ LU"O&B .

nds A and Bin five cities P, p S
’ ndT

(Bod &6 D(FoS® aSlisa,

o-
[
e}
m;,
3500 + ot i faed
S =3 ool
% (32} see| O
3000 +~  [oed r‘ ool
X soe| OV

2500 + oee

2000 + 1

[1600
j 1900

1500 +- oo e
10005 oo, 128 oo
500 4 [see is

9 P i{g

Cities/&Stforen —i
126. Average number of cars of Brand B is less than the average number of cars of Brand A by :

th

1
(1) 5 of the difference of cars of two Brands in city Q.

1rd
2 3 of the difference of the number of cars of Brand A and Brand B in city T.

1 rd
(3) 3 of the sum of the number of cars of two Brands A and B in city S.

1 t}‘
@ 5 of the sum of the number of cars of both Brands in city P.

(ro& A sog Srfen SogsE) (@ro& B sy Sifew oy Qo S5 ?

(1) %160 Q& Botb (erof = Somy Br5os® wonE S0t s8mse,

(2) JK6o T & (grof A, [erof B e Soage Pos® SueEtSoss $ErS0.
(3) 8o SE Botd [Eroty A, BSY Somge Awgost SrE808% S0,
(4) 3o P& Both (Erot 5% Homge IwEod® wantPsods B&eS0.

ET X
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127. 1f 10% of the owners of Brand A cars of city T migrate to city Q, then by how much percent the Brand A cars

128.

ET

increase in city Q ?

(1 45% @  50% - @) 25% @) 38%

8150 T 6% (g8 A g Rro8erthn® 10% 108 1o Q 8 S0rdHd, 6o Q & (E7oE A g J08 S5
20w ? i

(1 45% (2 50% (HB  25% @4 38%

In thetfotuﬁwtihng queSﬁon four statements follo;vea by four conclusions numbered I, II, Ill and IV are given. You
have to take the given statements to be true everyif they seem to be at variance from commonly known facts. Read

all the conclusions and then decide which of i i iven statements
disregarding commonly known frep. icho the given conclusions logically follow from the giv

Statements : Some cats are dogs. If':
All dogs are tigers.
Some tigers are rats,
All rats are snakes,
Conclusions: L Some tigers are dogs.
I Some tigers are cats.
Il Somecatsarerats, —
IV.  Some tigers are snakes:
Choose the correct answer : 4
(1)  OnlyIIand Il follow * OnlyTandIV follow
(3) OnlylHandIV follow @~ Only L, M and IV follow

(BoB (HHE® Tt (S8eien, Soms I IS0V 06° Erlis sreor> Suhoen sdpmzan. aQyS HELSe
FrrbEor BORS GO HHO EIVODEHEETED DeSd HoKBoSol. EpAoPePoBD 36D, Ferdmorr
BOS TR DRPOD B (BELSE Kol D EeNoHe BB ©HNORMP AgapoSol.

(BBoSen : &) denen HHen.
| o) Lo Heoe.
§°Q)) peoen aensen.

©f) denten SEDeD. ;

SoRodHen : L ER) Heveo HE. --
% :
IIL

IV, &) Heven FrEned

8BS aszeenid DoLE KW

(1) IISB0k e Sr@ah @0 0 15805 IV 0 $09(3H @R50paw

@) II%00%0 IV en &m@ ofsozon @) 11, 508050 IV en S e300

X 41 P.T.0.
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132.

133.

134.

135.

136.
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: ds.
Choose the correct prefixes that match the words given below to form meaningful words

Prefix Word
A, counter- L pollution
B. anti- IL measure
& dis- . functional
D. un- IV.  prove
E. dys- V.  screw
Choose the correct answer : G
(1)  AJLBIV,CI,D-IILE-V ) AL, BILCILD-IV,E-V
(3) A-LBLCIV,D-V,EII * (4)  AIY,BLCV,DLEI

Choose the correct option to fill in the blanks in the folloWing sentence.

i ts.
Everyone_ Nithya's spirit of competitiveness, she is always ready to part in spor
(1) admires, take * 2)  admire, take
(3  admiring, taking (4)  haveadmired, have taken
Select the correct option to fill in the blanks. T
The striking employees resorted sloganshouting to draw media attention_____ their agitation.
(1)  atfrom (2)  from,against * (3) to,to 4) by, for
Choose the correct form of the adjective to fill in the blank in the following sentence.
This is the meal I have ever eaten. :
(1) bad (2)  worse ()  worst o (4)  moreworse

Identify the correct transformation of the following sentence in passive voice from the options given below :
‘We pass an electric current across the electrodes.’

(I)  Theelectrodes were passed across an electric current.

(2) . Anelectric current is being passed across the electrodes.

(3)  Anelectric current is passed across the electrodes.

(4)  Anelectric current was passed across the eleqs:édes by them. o

Fill in the blanks with appropriate Articles :

He saw one-eyed man and old woman in his dream.

(1) ana (2) an an G aa @ aan

Choose the correct options to complete the sentence.

The admission form gave Sujata the choice to select History, Political Science if she
wanted a B.A. Degree.

(1)  neither, nor (2)  either,and ()  either,or (4)  neither, but

Arrange the sentences in the correct order to form a coherent paragraph.
A. Mayor decided to visit his grandparents in the village for the weekend.
B.  They spent the rest of the weekend catching up and enjoying each other’s com

pany.
C. OnSaturday morning, he boarded a train and enjoyed the scenic journey through the country side
D. Uponarriving, he was welcomed with a warm hug and a delicious homemade meal.
Choose the correct sequence:
1 ACDB @ ABCD s @) ABD,C @ ACBD

X
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137.

138.

139.

140.

141.

142.

ET

Choose the correct option to fill in the blank.
that there were games and music, I would have gone to the get-together party last night.

(1)  Ihad known () Hadlknowne® _(3) Ihadknow (4)  HadIknew

Choose the correct option to fill in the blank.
After the heavy rain and thunderstorm, there was —.they could set up their camp.
(1) nowhere * (2)  everywhere ()  everwhere (4)  anywhere

Arrange the sentences in the correct order to form a c6herent paragraph.

A. Inthe morning, people gather outside to celebrate by playfully throwing colours at one another, filling the
air with joy and laughter.

B. Forcelebrating the festival of Holi, families begin purchasing vibrant coloured powders a few days ahead.

C  Astheday ends, everyone comes together for a festive meal, enjoying the renewed bonds of friendship and
family.

D.  The celebration continues with music, dance and the sharing of traditional sweets like Gujiya.
Choose the correct option:

1) ABCD @ BACD g BADCe 4 ABDC

Change the following sentence to reported speech :
He said to me, “I will call you tomorrow.” é
(I)  Hesaid that he would call me tomorrow. =
(2) Hesaid that he will call me tomorrow. © -
(3)  Hesaid that he will call me the next day.

(4) Hesaid that he would call me the next day.

The child’s eyes lit when she saw the ice-cream cart turning their street.

(1) up,into * (20 on,up (3) over,down (4) out,over

Identify the correct sequence of the following jumbled sentences, which are marked P, Q, R and S, to form a
meaningful paragraph. i
P. Box breathing is the most recent regime.

Stress and anxiety are byproducts of modem-day lifestyles.

Q.
R.  Itfunctions as a cleanse, calming the nerves and returns the hyper-ventilating rate to normal.
S.

People try every trick in the book to overcome this threat, including yoga, meditation, exercises and breathing

techniques.
Choose the correct option :
(1 QPSR @ ' PRS50 "9 3 QSPR 4 SRPQ

X P.T.0.
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144,

145.

146.
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Choose the most appropriate synonym of the underlined word.
t's party-
In politics it is not uncommon to make every attempt to subvert the opponent P

. hold
(1)  support (@ debase - @) improve @ P

5, S0y i : from Column - B.
Fill i the blanks in the following sefi5jres in Column - A with the correct Articles

Column-A Column-B
A ____ appleaday kee}_ﬁf »—jé doctor away. L No Artacle
B.  The professor developed __: j syllabus on this new topic. I an
c Thisis—bstday;:;ufe_ m a

Suhasini prefersdrinking ______ coffee in the morning. Iv. the

Choose the correct answer from the options given below :
(1) AJLBIV,CILDI ™ @ AILBILCIV,DI

() AJILBLCILDIV 53 @ AIVBLCIDI

Engineers, using a prototype, scaié‘?gfbdel, simulation, destructive test, nondestructive test, or stress test,
to ensure that products:will:perform as expected.

(1) attempts (2) attempt « (3) hasattempted (4)  willhave attempted

Choose the correct option to fill in the blank in the following sentence.
wanted to, could ask questions or make observations after the presentations were made.

()  Whoever @ Whihever ©  (3) However @ Whenever

Choose the right antonym of the underfined word to fill in the blank in the following sentence.

She went outside to see what the ﬁcfm;}our was all about but the entry of the police van brought in a lot of
in no time. ol

(1) commotion (2)  uproar ( (3)  peace (4)  disturbance

x 44




Read the following passage carefully and answer the questions (148 to 150) that follow :

Snow leopards live high in the Himalayas - one of the least forgiving environments and among the most chall'eng'ing
places to study - making our critical efforts to assess their population incredibly difficult. Fortunately, skilled scientists

in India completed the first-ever rigorous examination of the country’s snow leopard population, estimating that 718 of
these iconic big cats live within the country’s borders.

Findings in the Snow Leopard Population Assessment will contribute to understanding snow leopard ecglog}'
and the importance of their high-altitude habits. India joins Bhutan'and Mongolia as one of the first countries to
establish their snow leopard population. India’s large-scale assessment was highly intensive and required surveying
over 10 million acres of the habitat and deploying about 2,000 cameritﬁés that produced thousands of photos.

“India’s study marks a leap forward, not just for the 718 majesii:é:;ts counted, but for conservation itself,” said

Dechen Dorji, senior director for Asia, Wildlife Conservation, “This landimark effort, spanning vast and rugged Himalayan
terrain, provides crucial data to guide their protection. It's a triumph o_fqoﬁaboration, perseverance, and scientific rigor,
offering immense hope for safeguarding this elusive protector of the High'Himalayas. It marks an important milestone
in our collective efforts to ensure their survival and that their landscapes thrive for generations to come.”

B
==

148. After reading the passage, consider the following statements: .
Assertion (A): India’s snow leopards’ study is considered & Tandmark effort.
Reason (R): The study was the first-ever rigorous examination of snow leopard populations in India and
completed successfully.

Choose the correct option :

(1)  Both Assertion and Reason are true, and the Reason is the correct explanation for the Assertion.

(2)  Both Assertion and Reason are true, but the Reason is not }hg correct explanation for the Assertion. 2
©)] Assertion is true, but Reason is false

(4)  Assertion s false, but Reason is true

149. After reading the passage, consider the following statements: % =~

Assertion (A): India’s assessment of the snow leopard popffgl—l_ion involved surveying over 10 million acres
of habitat and using about 2,000 camera traps.

Reason (R): The assessment was completed by scientists from Bhutan and Mongolia.
Choose the correct option : b, Y

(1)  Both Assertion and Reason are true, and the Reason is the correct explanation for the Assertion.

(2)  Both Assertion and Reason are true, but the Reason is not the correct explanation for the Assertion. ~
(3)  Assertion is true, but Reason is false.

(4)  Assertionis false, but Reason is true.

150. After reading the passage, consider the following statements : (%"
A.  Thestudy estimated that 718 snow leopards live within [nd;'g’s borders.
B. The snow leopard population Assessment involved rigo;‘i)ys::examination methods.
C. Indiais the first country to establish their snow leopard Baﬁélaﬁom.

D.  The assessment focused solely on studying snow leoparﬂs 1 lowland areas.

Which of the above statement(s) is/are correct ?
(1) Aonly (2) AandBonly ? 3 AB andConly (4) A,B,CandD

-00o0- b
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